
SM2 6.1 odd answers 
1.  Form: vertex 
      Vertex: (4, 3) 
      Axis of Symmetry: 𝑥 = 4 
      Direction of opening: up 
       y-intercept: (0, 19) 
3.  Form: standard 
     Vertex: (1,−12) 
     Axis of Symmetry: 𝑥 = 1 
     Direction of opening: up 
      y-intercept: (0,−11) 
5.  Form: factored 
     Vertex: (5,−4) 
     Axis of Symmetry: 𝑥 = 5 
     Direction of opening: up 
      y-intercept: (0, 21) 
7. Vertex: (2,−5) 
     Axis of Symmetry: 𝑥 = 2 
     y-intercept: (0,−1) 
     positive 
9. Vertex: (−1, 2) 
     Axis of Symmetry: 𝑥 = −1 
     y-intercept: �0, 1 1
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     negative 
11. 𝑥 = −3,𝑎𝑎𝑎 𝑥 = 5
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13. 3±√185
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